A1 — Match The Following 5 points

@ (10/4)+20+30-40 @ (6/8)*6+8
® 10+(20/6)-30+40 O (7/3)7+7
@ 10-20+(30/8)+40 QD 9*4-(9/4)
® 10-20+30+(40/5) @ 8+(5'5)-5
A2 — Match The Following 20 points
D2+ 3«6 / 9= @ 4
@4 -5+ 2+ 7= (\WIR!
®5 -3/ 9 « 6= (Y I
®6 / 2+ 7 - 8= X R
A3 — Match The Following 5 points
Answer Key: A-W, B-Z, C-X, D-Y (WZXY or ACDB)
A4 — Match The Following 5 points

The first Instructionless Match requires the participant to compare the elastic bands and find out the pairs which are
figures of the same band but stretched in a different way.
Answer Key: A-Y, B-W, C-X, D-Z (YWXZ or BCAD)

A5 — Match The Following 5 points
The first Instructionless Match requires the participant to count the squares in the figures given. E.g., the first figure

(A) has 16 1x1 squares, 6 squares formed by 2x2 areas, and 2 squares formed by 3x3 areas.
Answer Key: A-Z, B-X, C-Y, D-W (ZXYW or DBCA)

B1, B2 — As Easy As ABC 10 + 20 points
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45 points

B3 — Spirally As ABC
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25 + 55 points

60 points

C1, C2— TomTom
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D1, D2 — Battleships 10 + 65 points
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D3 — Battleships Observer 30 points
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E1, E2 — Regional Star Battle 20 + 20 points

* *
x| |k *| %

*| Pk * *

*| [k * X

F1 - Cross the Streams 30+25 points
4 2 * ?
?7? ? ?107? 27?7 * ? 2 2
?7? ? 4 21?7 21?7222 % 2 2
1?1 k|2 |k |k | k(4?4 12?2 | k| k| 2]k |[k]|k]|2
4 ? ? 7 3 * 3 *
? 4 % ? 3 *
* *
* 4 ? ?7 3
? 3 *
?2 7?77?77 ? 7?77
?2 7?77?77 *
* 4 ??7 7
4 * ?
* ? 7?77




G1, G2 — Nurikabe 15 + 15 points




H1 — Tetromino Division 15 points
TIL|LJI|JTIL | LI
TITILII|T|TL]I
TIS|ILII|TISIL)I
SISITII)IS|S|THI
SIT|T|TS|T|T|T
I/I|I|IJLJO|O}|L
O|OJL|L|LJO|O}L
OO0l |I|/I|I|JL|L

11, 12 — Araf

I3 — Araf [Different Neighbors]

H2 — Pentomino Division 30 points
LIL|L(L)Y)yT|T|THU|U
L2l Y|Y|Y|Y|T|2]|2]}U
Fl2|2|Z2|P|P}JT|2]U|U
FIF|F1Z|P| P12 |Z]|N|N
NJIF|IY|W|W|JPIN|N| NJ|L
NINJY | YIW|WJLIP | P|L
Y|INJ[Y P PIWJL|P|P]L
Y|INJY P P|PJL|P|L|L
YIYIN/NINJYJL|L}P|P
YIN|NJY|Y|Y|Y|P|P|P

25 + 35 points

75 points



J1 — Maximal Lengths

J2, J3 — Minimal Lengths

K1, K2 — Slitherlink
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K3 — Toroidal Slitherlink 65 points

L1, L2 — Snake 20 + 40 points
5 5




50 points

M — Tiki Tour




